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r General Instructions :
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The question paper comprises of two Sections, A and B. You are to attempt both the sections.

Toff 79 IifE §1

All questions are compulsory.

ST WRT-3T IR WET-& & T+t Yol & IR JoF - 9% forem ol |

All questions of Section-A and all questions of Section-B are to be attempted separately.

UTT-3T & Y99 T&A1 1 9 3 & Y9 Ueh-Ueh 3{eh & § | 37 SR Ueh P16 ST TR el | |
Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence.

WIT-21 & WY G149 6 % W3 21— T TRl & & | 7o IT T 30-30 Jrsal B 2 |

Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered in
about 30 words each.

WIT-31 & T W& 7 918 % Fe - ot et & §1 37 ST @ 50-50 vt A T
Question numbers 7 to 18 in Section-A are three marks questions. These are to be answered
in about 50 words each.

WT-31 3 T AT 19 | 24 F T WS- OIS ekl & T | $99 ST T 70-70 IIegif H & |
Question numbers 19 to 24 in Section-A are five marks questions. These are to be answered
in about 70 words each.

UTT-& & T3 GE&AT 25 | 33 F YT TIAFTHE hiva R SATRG Sgfahedt T T 1| T&% Y9 Teh-
Tk 3{eh &1 §1 fSU 3 =R fashedi & 9 A9 $90 T ol SUgH foaahed T B
Question numbers 25 to 33 in Section-B are multiple choice questions based on practical

skills. Each question is a one mark question. You are to select one most appropriate response
out of the four provided to you.
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Question numbers 34 to 36 in Section-B are questions based on practical skills are two marks
questions.

HIT-37 / SECTION-A

1 A g HaH o <) gl % AW fAfgy s Haed & o st €

Name two elements of the water conducting tissue which are responsible for conduction.

2 ot aeg & ofraa 3 qen ST e 1 GEATHS STUK 1 § SE Ueh o] Wik Y@ H =i 82

What is the numerical ratio of average velocity to average speed of an object when it is
moving along a straight path ?

3 A Tlw wEe & W fafay i e Em g |

Name two protein containing Kharif crops.

Tl o forar o1 ) <9 B |, |2
Rate of diffusion is faster in gases. Why ?

5 ol snif¥reRT =01 41 7meR & faeras | TE W 39 fagesd &t giwan &1 aviF HifS |

Describe the process of shrinking of cell on being put in a strong salt solution.

6 Tfa & fedta from & nivede Sl & TR § id &Yo@ fem & T g3 &1 S5 o
T |

Derive the Newton's first law of motion from the mathematical expression of the second law
of motion.

7 forera Y wigar =1 = e At 87w faee § 250 g 5 H 50 g R A6 fawmE R
foeram =1 wigan aftshiera it

What is meant by concentration of solution ? A solution contains 50 g of common salt in 250g
of water. Calculate the concentration of the solution.

8 @ T fugw & < yoeeia gl #, S F@uis & d® 25 kK § FH 8, gUh wE A
o1 o1 AW fafed |
(b) YU TR H T H AR T A W R HCEA 1 e i | g & wE | o
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(a) Name a technique to separate a mixture of two or more miscible liquids for which

difference in boiling points is less than 25 k.
(b) Describe the structure of the column and used in the above technique. Why is it used ?

9 T BT 917 AT U F Y Ueh § WA W AT | 39HE g R TR RS St @ s e 1 3
| SHeR! U A IHF W W R SAREH o |
(@) I A W TR e i o ?
(b) FFR s & faer v faomes =1 7m fafaw)
() 4™ foFa g 1 gwifen ?
A little baby was playing in a park with his maid. Suddenly he fell down and got minor
.7 injury. Maid applied tincture of iodine on the wound.
(a) Why did she apply tincture of iodine on the wound ?

(b) Name the solute and solvent present in tincture of iodine.
(c) Enlist the values shown by the maid

10 S w7 Tk wH fafen 3

What are genes ? What are their functions.

11 frafafaa & Sl % TR 1 Y89y 3

@  Heed dsw
(b) a1 A SR
(c)  IFRE AT H TR
(d) A H gl

7 () A H IR
(h R = g
Identify the type of tissues in the following :
() Vascular bundle
(b) Inner lining of the intestine
(0) Lining of kidney tubule
(d) Iris of the eye

(e) Muscles of the heart
® Bronchi of lungs

12 Pl F HFE HgH AN LI T R IWK FA TAR? IR TWE D g FFEH ‘¢ waA 3
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The value of g at the centre of the earth is zero.
Is the above statement correct. If so, then what is the value of ‘G’ in the
centre of the earth? Now calculate the weight of an object which has a mass

of 5 kg on the surface of the earth, at the centre of the earth.

13 (@) 6 =g AW fafEy fawen s aifuw ®
(i) R T A GHA SRR HT Th Teork |
(i) G ST U THU T T A S SS9 9T R
(b) Fafafea & sro fafac .-
()  FRAT Y H BI W@ YA B Y S e
() g H Il ) ast ¥ e s § @ o et iR s E

(@) State the name of the object which has more inertia :
(@) a rubber ball and a stone of the same size
(if) an empty box and another similar box filled with clothes
(b) Give reasons for the following :
(i) Luggage placed on the roof of a car or bus is tied with rope.
(ii) When a branch of a tree is shaken vigorously, some of the leaves drop down.

14 50 kg TSI T R TSH R 60 kg THTH F IGH T 7T T T § TER 1m T W 43 T
I HE T A6l TEEThHU §¢] Sl TRHTT Hifg |

(G=6.67%x10"" Nm?* kg?)
Calculate the force of gravitation between a boy of mass 50kg and his friend of mass 60 kg
sitting at a distance of 1 m from each other.

(G=6.67%10 " Nm”kg?)

15 FE I 7 m 50 & 90 | Uw HE T @ owid €, 59 9% o g9 QU AW © o 39H! g4 ae
o 1 Uftehe™ Hiferg | g i TR T YRR FR?

An object is moving with uniform speed in a circle of radius 7m. Calculate the distance and
displacement when it completes half the circle. What type of motion does the object
possess ?
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T 1 giswaned 1 Seorg ifee e 31T g% Wil § fonan S wehd §

Nowadays incorporating desirable characters in plants or animals to improve the quality has
become essential. Discuss three processes by which this can be faciliatated.

17 (@)  SieR Y QIS SATaRgRal 32 2 I Fapel d fhe ywR e €2 3
(b) T A F | HF wed! IR 2 2
(€ TR fFE WRR T STIETH SUCTSY HIAT Tl © 2
(a) In what way broilers’ feed is different from layers’ ?
)} Which one of these mature earlier ?
() What type of shelter is provided to them ‘?
18 @ T ®EE & T fAfET s 7ol qaeH & Wi 3 S S Eewd 2 3
(b) WA, UG T FIAA M4 & SER TS FA % &3l Seoid Hiog |
(a) Name the crop which can be grown in combination to fish culture.
(b) Mention the feeding zones of Catla, Rohu, Mrigals, common carp.
‘19 (@) T IR TSI | U GHMA AT T TR h Seoi®@ HI | 5

(b) U TH FR ? T FY TR G@IE ?
() U = A9 stawedl % s fAfatEd & SR W fadeT wifey
G) woOMEHAREEA (@)  FHO D A THEIT T

(a) State one difference and one similarity between boiling and evaporation.
(b) What is dry ice ? How is it prepared ?
(c) Compare the three states of matter on the basis of

(i) Inter particle spaces and

(ii) Interparticle forces of attraction

20 (@) g g9l (S 9 THEH) H gus w9 F A swEm e - e A ST S
I AT NG WG | 3HH! WisHA1 o1 70 T 39 fagr
(b) Frafafea 5§ s aftads et

()  h-reem (i) % WS AT
(il) SEEH W FEIT  (iv) g H FEREA w5 e

(a) Draw labelled diagram of the apparatus used to separate components of two
miscible liquids (water and acetone). Name the process and state the principle
involved.

(b) Identify the physical changes from the following

Page 5 of 12



(1) Melting of ice

(it) Rusting of iron

(iii) ~ Sublimation of iodine

(iv)  Burning of magnesium in air

21 TF At Sask 1 9 fafeae st go 21y 3R €1 98 361 R S SRU A ST 22 sH Fas 5
- E dF AEvEE w1 ftEe |

Name a connective tissue which is the hardest. What makes it so hard ? List any three
important functions of this tissue.

22 T2 fareft SR 7 399 RTwTEeaT § 39 999 # 2 ms? T @07 TET9 HLdT g a7 G090 HF S
&Y § 1000 .7, AT gu aivaas FifS -

a) O EIRT AT AT 9

b) 10 Fhe THTT G

c) IR I F 15 Gohe T 6 F QAT T @1 R # AqAm@earas: oo § o
AT F9T (T A=15N)

If the engine of a car provides an acceleration of 2m/s? to start it from rest, assuming
the mass to be roughly 1000kg, calculate :

a) Force provided by the engine

b) Momentum after 10 sec.

c) Time after which the car comes to rest, if the engine is tuned off after 15 sec.
(frictional force = 15N)

23 @ () ARTES AL 5
(i)  TECTT RO e 2
(b) T T B R a%g % 9 W v ufeA A R ? Fi?
(© ‘G ANy H W SRR B Y
(a) What is meant by :
(i) free fall
(ii) acceleration due to gravity

(b) Is there a change in the velocity of a freely falling object? Why ?
(0) What is the difference between ‘G and ‘g’
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H 3737 SARH YT FA o o0 SIS Feier Jonferar saeas € ?

In India poultry farming is necessary to supply cheap proteins using low cost input. Discuss.

Write the management practices which are important for good production of poultry birds ?

HTT-a / SECTION - B

25 1A H QA EET B F 9y AA-Hen T ? 1
(@  wRA (b) AR ()  smEEgH (d wEE
(e Which one of the following chemical gives a blue black colour with starch
(a) fluorine (b) chlorine (0) iodine (d) bromine

26 @ B A, B, 7 C 7 &€ T g F erafufya Tt F A ae % wdew & forg A @ i 1
WAt | fefetaa g0 9 femn
(A) WO
(B) Y TR I TRH
(C) U= T« o 9 H faeram
TAF A S YA ° HAY: Hix RS 37 STel, &0l i Tl iy ww et ;-
(a)  HIA AT (b)  HIACBEN
(c) HIACEW @ T FET
To test the presence of metanil yellow in a given adulterated sample of dal three students A,
B, C took the sample in three test tubes in the following manner :
(A)  whole dal
(B) powder of dry dal
(C)  solution of powdered dal in water

Each of them added conc. Hydrochloric acid to their respective samples. Correct
confirmatory observation shall be obtained by :

(@)  Aonly (b) Bonly
() Conly (d) all the three
27 frafafed fosi o1 Ifam FIT 9o @& fowes 91 1
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(@ IITF TSR (b) ITH IR
© IV Afm 7 d I1THTE T

Observe the following diagrams and choose the correct option :

Water Iron

NaCl
solution Sulphur
(i) )
(a) Il is an element (b) Il is a mixture
(c) IV is a compound (d) lis an element

28 e Ul iR T TRS A T FHA WA I M TR
@)  TH fyeen o € (b)y @ e AR
©  Toguqw oa & e g d) fago afted & s R

Sulphur powder and iron filings are heated, we would observe that :
(a) Sulphur starts melting (b) Iron filings start melting
(c) Mixture becomes red hot (d) Mixture evaporates

29 T T R IR FEhe
@) D e & e R (b) IV TS B R
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Copper sulphate on heating :
(a) changes from blue to black (b) changes from blue to white
(o) liberates brown colour gas (d) changes from blue to brown

30 TR TAEE (AN L HE T W Hat FTg &l T@ 1 98 W ¢
@@ R feerg #1 oORF wry § fre
(b) FR Ty & IR G T R 9 T

()  fouet =t werEa @ wer feg o § v

d) € F wEEa § wer ferw ok | @
While preparing temporary slide the correct method of placing the coverslip on the specimen
is :
(a) dropping the cover slip gently with hand
(b) sliding the coverslip gently from the side
(0 placing the coverslip gently using forceps
(d) placing the coverslip gently using a needle
31

dfeht wIRTH & T T @ fa gwian T & e v A7 o 98 e
@)  Tafem (b) AN
© T« (d) SIwe
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Part of nerve cell has been drawn here. The correct labelling for ‘A" is :

(@) cilia (b) flagella
(©) tentecles (d) dendrites
32 S % Sl e | T T R S wshd € B 1
(@) AT (b)  HEE
() e d) R iy 5 F e
Recovery of salt from salt solution in water can be done by :-
(a) evaporation (b) distillation
() filtration (d) dissolving in more water.

33 T AAAHR EH kAW HOw w SARA HAW A, A, SR A, ¥ &R 1
Ap> Ap> Ayl 38 TZeh ! TIRERTHT UM &7 & AT sfraess =am a9 7T 1 T 39 e 6
U W THE ITET-3Fe Ferehl W W@ L (671 911 A9 T TG FE: Fy, By, By §1 T A1 sl F

YO R 3
(@ F>F>F (b) F>F3>F
(0 F>Fp>F (d Fi=F=F

Area of three different faces of a rectangular block is A;, A, Az such that
Aq1> Ap> Ag Minimum force required to just slide it was measured by keeping it successively
on three faces and the forces measured were F;, F,, F3 respectively. The relation between the

three forces would be -
(a F>F>F (b) F>F>F
() F>F>F (d Fi=F=F

34 IR BET A, B, CIU D i H1Y, fheet 9, WEAiedl, Weell €S, QYR T9, 96 q8el, 2
WE (Hg) qu THe f men SR afaw faegn, Fene qon wdiged foee AR
a1 wEAfaal 1 fogar saftea fean weRfasl ¥ o =g qon fieer o o sraniy
Yfera wifew) frees, sEvy qen faeas & R @1 freed fremifera)
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Four students A, B, C and D were given funnels, filter paper, test tubes, test tube stands,
common salt, chalk powder, starch and glucose powder. They prepared the true solution,
suspension and colloidal solutions. Test tubes were arranged as shown in the figure. Observe
the filtrate obtained in the test tubes and residue on filter paper. Conclude about filtrate,
residue and type of solution.

Filter paper
faeet W
Funnel
Y
Residue ¥

Sy

T

Clear water

Clear water
we 949

N

35 9% ¥ WY K IRorA YR war gen WE e K T ¥ 9F ¥ 9 H R v ¥ W9 oA 2
srareen IREdT w1 S0 FE T frwd fafa)

100 —t

90 —
80 —
70 et

60 —————i

50 ——
40 — |
30—
260 —
10

] 1 | | |

g (8) e——r———

- Graph for change of ice to steam is shown below. Observe the change of state from ice to
water and water to steam and write two inferences.
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36  AB ¥R CYAF B F WeR TR FI e frwid ¢ ) frafaet ) FW @ qonm w2
Igd W H fen e A 3 10 e % fow fewfhel ®) faen, B 3 @R @R C 3 60
fe & foq frvfiel =1 fomian qewem SR feufiel R orawifi S Y it
IReRfed 1
I = v % SW fafae-

(@ fm 3w w frubd sewifm @ #t afusas Thewa i@ ¥ SEw AW
fafa|

(b) o\ o = frwfayl srawifvd Sot w5 =g wiaea quidt § SEent W fafay)

Three students A, B and C were given five raisins each of equal mass. The raisins were soaked

in distilled water at room temperature. A soaked the raisins for 10 minutes, B for overnight

and C for 60 minutes. Then they calculated the percentage of water absorbed by raisins.
Now answer the following questions:-

(a) Name the student whose raisins will show the maximum percentage of water
absorbed.

(b) Name the student whose raisins will show the minimum percentage of water
absorbed.

a4 o ok ok ok

Page 12 of 12



